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Topic:- Child Development & Pedagogy (CDP)

1) 1dentical Twins have . [ 9UEY Jai (Gnséﬁﬁ iﬁW)
1. developed out of two ova /734'3[ 3fsl 9 falRa Eﬁ?f %I

2. no identical heredity / s 87 THASTT mgaﬁm AET 8T &l
3. common heredity / H AT m?;aﬂm grar %’I
4. usually no resemblance to each other/ 37 AR T TH @T q IS AR AL &l

Correct Answer :-

« common heredity / F gHT maa‘@w gar g1

2) Masculinity and femininity are typically linked to

1. Sexism / foloTdie

2. Sex / fotaT

3. Gender / foT

4. Patriarchy/ﬁ’QHH

Correct Answer :-

. Gender / fofr

3) 1t's the part of the scientific method that uses the data to help explain the results of the experiment. What is it called? / Tg %mﬁm q@ﬁf

1 T 3 8 St v & aRomal 3t saren - # Heg B 3G AT BT SUGNT HIAT 81 5 T Hgd 82
1. Conclusion/ feTs&

2. Purpose/ FaTSTel

3. Hypothesis/ eheTalT

4. Observation/ 3Tdelidhel

Correct Answer :-

« Conclusion/ oSy

4) jJudgment should come through a systematic analysis and evaluation. This is known as ./ faofa Th HafRud ﬁa@rw Sﬁ?

TP & T1ead | g1 A1fel 30 Fq B AT ST 7
1. Critical thinking / 3Tg=T fideT

2. Insightful thinking / e equr fRider

3. Emotional thinking / HTdellcAe fHideT

4. Divergent thinking / 3798RT &ida

Correct Answer :-

« Critical thinking / 3§ fideT

5) The average attention span of a high school student is: / T e Thel F o & Atad earer Iafr fRas g &



1. 32-40min/ 32-40 fA=Te
2. 25-30min/ 25-30 f&AeTe
3. 10-12min / 10-12 f&=e
4. 15-20 min/ 15-20 fA=1e

Correct Answer :-

« 10-12min / 10-12 A=

6) When is the best time to reinforce behavior? / SIGgR &Y gﬂﬁﬂ' FIA HT O IHTOT AT HF %‘7
1. Long before the behavior occurs / SIAgR g ag?f AT ggel

2. Long after the behavior occurs / SIdgIR ?I?}f F o FHY 915

3. Shortly after the behavior occurs / SIdgR m T iﬁi AT &l

4, Shortly before the behavior occurs / SIAgR B T iw_ﬁ AT Ugel

Correct Answer :-

« Shortly after the behavior occurs / TIdR glel IO {HT €1

7) When a pleasant stimulus is added to increase the incidence of a behavior, it is known as: /mwwfrmaﬁaﬁma?m
TF UG 3549 I AT AT ¢, A3 T H T AET R

1. Positive punishment / HhRTcHSD GUS

2. Positive reinforcement / Wgﬂéﬂ?{
3. Negative punishment / sThRTcH GUS

4. Negative reinforcement / sTehRTcHh gﬂ'eflﬂ?r

Correct Answer :-

« Positive reinforcement / WW

8) Unless the typist, in order to learn typing prepares himself to start, he would not make much progress in a lethargic and unprepared
manner. Who proposed this learning theory which believes in the ‘Law of Readiness’? / 3Iq de& ersfive, esfr sfew & Qv gq
N YE I F AT R 7 a1 §, 9 9% a8 0 G AN Ff@T al& § qga wofay 7@ Fom 3w A Rewia w1
gfaures fFasr fFam Y ‘aeRar & e F feaw #an §?

1. Jean Piaget / Sfie fO=mer

2. Edward Thorndike / USds UTISTSH
3. Wolfgang Kohler / GTewhsiaT shigerR
4. Tan Pavlov / a1 drdeiid

Correct Answer :-

« Edward Thorndike / USas ATISISH

9) One way to involve all students in the class, so that no one feels left out is by: / ®&T & Weft Bl F1 AT FA F1 v a1 e
t, % F15 off twr Aeww 7 W B 3@ o Rw ¥

1. Punishing the non-performing students / 3R-gele et aTel STAT &I &8 ST

2. Changing the seating arrangements / SGel I SITEAT Fl FEolell

3. Ignore the uninvolved students / TSaAT M glet dTel AT HI UG HLAT

4. Send the uninvolved students out of the class / fomm wnfara 'eﬁ%f T B Bl DET J CIREY i) a_rﬂ
Correct Answer :-

« Changing the seating arrangements / §&a I STTTAT AT TEelall



10) During a guidance service the help that a client receives is for: / T AR AT % SR, 9 A S UF AESH ' 30F AT
Rereh &

1. giving solutions/ THTETT el

2. making decisions on behalf of the client/ IMgeh & 3R T AvTT o=

3. impose opinions/ I ATeT

4. focus on setting goals and problem solving/ & fAERUT 3R FHATAT TATUA W €I ot
Correct Answer :-

« focus on setting goals and problem solving/ & fAERUT 3R FHATAT TATUH W €A ot
11) During development, a major prerequisite for learning is: / @& & ghuer, 71T & v & britcl ad §:
1. Maturation / IRIeFadT

2. Encouragement / WTcHTgeT

3. Guidance / &2t

4. Financial help / facdi=r agraar

Correct Answer :-

« Maturation / IRYFIT

12) Qver protectiveness of parents leads to _____in the child. / Fra-far i s RiRaIE ) TR AR A AT %I
1. Confidence / TcHTIZaTH

2. Dependence / feRar

3. Ego strength / 3§ ATFd

4, Level of aspiration / SHThi& P IR

Correct Answer :-

« Dependence / f$ar

13) Which of the following is a characteristic of the project method? / RFifaf@a # & Fia-dt v& wiowe AT fir QAdvar &2
1. A voluntary undertaking / Uch ﬁm gqadrg %I

2. Carried in its natural setting / 3T uﬁ?ﬁﬁ IfeT & Y St %I

3. Problematic act / JHIATHD WI

4, Used for all round development of child’s personality / T ¥ Hfada & gafifior faem & 1%112 JUTNT B St %I

Correct Answer :-

« Used for all round development of child’s personality / ST F HAfda & gafifior faerg & 1%112 JUTNT BT St %I

14) Which one of the following is a principle of counselling/ PFafaf@a & ¥ ¥ wWwHS F1 v ﬁi}ﬂa’ ¥

1. Diagnosis of external appearances. / STeXT fg@d @l gt

2. Acceptance and understanding of individuals. / STTFaT &Hr Fﬂajﬁ IR FHE

3. Flexibility of program according to community needs. / m IMARTHRATIT HTER FTAHA HI T |
4. extending help to all individuals. / T8 STTFAIT DI TETAAT T&TeT HLAT|

Correct Answer :-

« Acceptance and understanding of individuals. / STTcral T Q—Tﬂﬁfﬁ 3R TFET|



Which is the second stage of psychosocial development according to Erik Erikson? /

F REFwaT F IqER, ANWATSF AHE FT GO OO Flea-a1 g2
1. Initiative vs. guilt / Jgel TTH 3TORTET

2. Autonomy vs. shame and doubt / TIATAT §=T1T QBT 3T Teg

3. Industry vs. inferiority / IRSF FATH gleldl

4. Generativity vs. stagnation / 3Gl SATH 3gId

Correct Answer :-

« Autonomy vs. shame and doubt / TITIAT FATH o 3R TeE

16) The premise that an individual's behavior and affect are largely determined by his or her attitudes and assumptions about the world
underlies: / 98 3TUR s et =afda & saaer 3R womE &t 93 99 W 39F AR AR g @ wasr & AR F AwganEt
garr fruiRa frar smar &:

1. Cognitive-behavior therapy/ HallTcHh-eqagR AGT

2. Psychoanalytic psychotherapy/ HATARSVUTTcA® HAITRcAT
3. Milieu therapy/ o3 2Ry

4. Modeling/ Aol

Correct Answer :-

« Cognitive-behavior therapy/ HallellcHT-cTagR AT

17) In which stage of development does the child learn motor and physical skills necessary for playing different indoor and outdoor

games? / A& & A T # Toa1 BT 5=k 3t 3M3cER 7 @aad & AT rags AT 3 aiRE Fhera draar 2
1. Later childhood (6 to 12 years)/ 9T STeATIEAT (6 T 12 a¥)

2. Infancy (up to 2 years)/ ARETEEAT (2 ¥ TH)

3. Adolescence (from 12 to 18 years)/ fheIRTaE2m (12 18 a¥ dh)

4. Barly childhood (3 to 5 years)/ YR sTedr@eer (38 5av)

Correct Answer :-

« Later childhood (6 to 12 years)/ U2T STATaTAT (6 & 12 dW)

18) What must be encouraged in the second stage of psychosocial development according to Erikson? / TR&HT & U, AAdAAE
R & qgEX Ior & FA1 Dewfed BFar S aiRe?

1. Relationships / FeeT

2. Support / TEAIT

3. Proximal development / f@eheadt faera
4. Exploration / 37=d¥oT

Correct Answer :-

« Exploration / 3{=dsoT

19) What is the term used to denote the long-term increase in IQ over the past few decades? / oo S CEEa ﬁ', gaﬁ'ﬂ?ﬂ (311%3—7{) #
ddFifas gefr  wla F@ F v Fw aeg 1 3w R smar 82

1. The Flynn effect / feleT T8T@
2. The generation gap / 9IéT 37cRTel
3. The IQ effect / 3$ay T

4. The Wechsler effect / ITER THTT

Correct Answer :-



« The Flynn effect / TeleT g87a

20) What theory focuses on the role of operant conditioning in language acquisition? / $TST 37f&rargor # F‘l\ﬁ' HeJhelel #r Hﬁiﬁ' T
i @1 fgua & &

1. Nativist theory / =ifefaee @'CSHH
2. Nature theory / Wil Teea

3. Cognitive theory / HallellcAs AgHrd

4. Behaviourist theory / SqggRaTer ﬁ?{iﬁl’l?f

Correct Answer :-

« Behaviourist theory / SqggRaTer ﬁafllﬂ

21) What career would be ideal for a child with high spatial intelligence? / 359 TUTfais g{ﬁl’ e =9 § AT T 91 sygurr el
grm?

1. Architecture / aTEdehell

2. Musical composition / T3 TT=AT
3. Politics / ITStetifel

4, Writing / for@=Tr

Correct Answer :-

« Architecture / GrEdehell

22) Interest as well as is a must to achieve desired success in a task. / TR & Trer -arer , Th F & Tifd Therar ed T ¥
AT smags 1

1. Attitude / 37frgfer

2. Hard work / #oR s
3. Aptitude / JFIT

4. Intelligence / gﬂﬁ

Correct Answer :-

« Aptitude / JIIr

23) Who is the father of Psychoanalysis? / HNfIRAYOT & SeAsh HleT §2
1. Carl Jung / Tel ?EI,?T

2. Erik Erikson / TRe TReFal

3. Jacques Lacan / 3iTeh TRt

4. Sigmund Freud / R9#s w8

Correct Answer :-

« Sigmund Freud / f9#s W8

24) The Two-factor theory is introduced by: / gfdFR#® fguia sa% garr yfawfea fFar ar=m:
1. Lev Vygotsky / forg arsaicaedhr

2. Abraham Maslow / 3T§ITgH HIETAT

3. Jean William Fritz Piaget / ST faferd flhest foamsr

4. Frederick Herzberg / m aﬁaﬁ

Correct Answer :-



« Frederick Herzberg / heRe Eﬁfaﬁ

25) The two factors which were identified in the Two-factor theory are: / gfa#R® Rgtia & = & FRFT A TG 6it 71§
o, &

1. chemical and social / TR 3R ArATG

2. motivation and hygiene / 3fROROT (Afeaes) 3R TaTaar (grehe)
3. physical and economical / $iifas 31T 3reemdiT

4. biological and environmental / Gfed sk wafarufig

Correct Answer :-

« motivation and hygiene / 3ifR9ROT (#Afeaer) 3T Tazodr (gssi)

26) Louis L. Thurstone did not focus on which of the following abilities? / ﬁmﬁf@aﬁ#ﬁmquwnﬂ. gl & e Hfga gt
fram?

1. Associative Memory /WFHL'%

2. Verbal Comprehension /a:m@mammvrr
3. Psychomotor Ability / HASOT J3TT
4. Numerical Ability | THATHD &HdT

Correct Answer :-

« Psychomotor Ability / FATIROT JTTAT

27) Problem in spelling and reading are faced by a child affected by: / f@& @ yRa v T=d anT A= 31X gget F THATAT FT AHAT
FIAT g3 &

1. Dysgraphia / 3T
2. Aphasia / araTeTd

3. Dyslexia JAESICREN

4. Dyspraxia / fSEdfeaar

Correct Answer :-

« Dyslexia / Brafaaar

28) pedagogy means to | e &1 3 gar gl
1. educate the child / = & Rf&T FET

2. lead the child / ST T AJcd HI=AT

3. guide the child / ITT HT IMSS HFIAT

4. understand the child / ST &Y HASTAT

Correct Answer :-

« understand the child / I HT FHSTAT

29) The method that enables a student to solve a problem, carry out a task, or achieve a goal through a gradual shedding of outside assistance

is called: / 9% faf¥r sit forsdft BT P fordt v &) 8@ $A, [FA B B e 7 a1 AT TerudaT & HfA® Aeg & HIeaw I
TP 98T UTd B3+ A HaH F1d1 8, 3 BT ordT 8:

1. Scaffolding / 918 (THwhifeaan)
2. Active learning / Gfshe 31T8eTeT

3. Root memorization / Hel GEATT

4. Drilling / TS



Correct Answer :-

« Scaffolding / 9T8 (THhhiTesdT)

30) Babies learn to differentiate between day and night by theageof ___ . /_ | 3y T ﬁ_"l' 3‘?'? Id H 3R BT dEd %'I
1. Six months / B¢ HAgIA

2. Three months / cile HgIeT

3. One year / Ueh a¥

4. Nine months / 7} #FgYY

Correct Answer :-

« Three months / sl AT

Topic:- General Hindi (LLGH)

1) HETHA fAemufa Bt FAE TP, 3@eg 3R Al - 41 € yrwsi & Iuarsy § | 3 FHwvs, enfRe, 9, [, Wed-wd enfe % yeivs uftsa @ |
FP! TEISH F YA HUSR | I7F FHhAS BT 3 fAIwaR WE ghar & | Ui TaqT, §mie Tt § freq-fae & e v, - oMR & fase
forror, Fforea quia | TSIgEET BT STE TS SR HifY-TRGT GRT I FAAEIY T, WA FH-a & TER-TGER Pt UG al a1 a1 8% &7 Bt
TN SRt ST Hrererd! [T & gof § | I 3R AP & HYUT AR TR I7HT SRATURT SRBR AT | ZTIRGRING 3eh o113} & Ma=pre &
RN AP TR Pt I SUTE T AR greRiar &7 ywror | ead! e @1 ARE-Usa & § gad 31 Anfexi{ 3d ) | QRaR-amivd g1 &
TTavg 3P U Wt TS S0 el aRuT-uv § Ried TE g3 | 3ol % 1T ¥ S5 HSTe I R, qrATTe sfiwal ok Ao 1 A dR B
TER Afaerar 1 fde fBan |

IUYT T B UGHR 14 TS T WY BT SWR gaIgd:
Ty - AR yTaT U & &7 F Sl e 7 2
1. fafer

2. 557

3. HiSTR

4. 3aYg

Correct Answer :-

2) WETHiY faemufa @t T T, sraeg SR AT - i € wrwai # Sudsy § | 3 FHwvs, enfuRe, IxfF, [, Wied-wd 3nfe % weTvs uftsd @ |
I TS & e YUSR | 9% JEEAS $1 3 IR Wy giar @ | ufds @, gmive wamnsi # freq-fave & gea w=tuma, Afa-ofmr & fawrg
forror, Fforea quia | TeTgEEl BT ST TS SR HAifY-RGT GRT I FAAY T, VA FH-Sia & TER-TGER Pt UG aral a1 a1 8% &7 Bt
RN TSRt ST Prererd! [T & ol & | I 3R AP & YUl AR TR I7PT SRATURT SARBR AT | STIRGRNG 3 o113} & Ara-opra &
IR S T Pl AP 31UTE I 3R gReRfar &1 yaror f | Aeadf womeil Y MEE-usta ¥ 3 wad o1 anfeRi{ 39 R | SRaR-awiitd g1 &
T1ae[g ST U W Yo I FE aRu-o § e TE g | Srueht g% T | SR qHw e R, wrie sifieat ok ISty SaeeR 1
TER Afderar 1 fde fBan |

IUYE TR B UGHR 14 TS T WY BT STR aTgd:

uy - ifowRa & AremH § "l fFemufa 7 58 Sdeaty e 2
1. FAgTHIaAT

2. GHHCN Hedet

3. dfer=t

4. TSt

Correct Answer :-

3) WETHfy faamufa @Y T T, sraeg SR AfUeh - i € wrwai # Suasy § | 3 FHwvs, e, oxfF, [, Wied-wd anfe % weivs uftsa @ |
FBT TS & fAge YUSR | 9% JEEAP B 3 faTaR Ty giar @ | ufds T, gmive wamnsi # freq-fave & gea w=itume, Afa-fr & fawrg
fortor, Fforea quia | TSIgEE! BT STE T SR HifY-TRGT GRT I PAAIY T, YA FH-Sita & TER-TIER Pt UG aal a1 a1 8% &7 Bt
RN STt ST Prererd! [T & gof & | I 3R A1 & YUl AR TR I7PT SRATURYT SARBR AT | STIRGRNG 3 o113} & Ara-Topred &
TRrd IS WU Pl IS 31UTE 14 3R gReRfar &1 yaror # | Aeadf womeil Y eE-usta & 3 wad g1 anfeRi{ 39 R | RaR-awiitd g1 &
Wwwmmﬁy@:mﬁw-aﬁﬁﬁmqﬁgm | 3TN &R TEAT A ST U e, " sififedl 3R IS 1 aedR ot
UER Afdear &1 frdgs I

Iuad TR B Ugh? 12 I Y Uy BT IR gargd:



Ty - AETHTY faemafy &Y et fore Tremsi & e B IR § 2
L. arer I

2. 9e @i

3. NEATRaNT

4. A T

Correct Answer :-

o 3EAIRaT

4) UeTHla faumefa &Y AN AP, sragg iR Af - FiFY & wrwreil # Suasy § | 3 FHwIvs, yHRIRd, 3=, A, Higd-3md 3nfe ¥ yeTvs ufvsa A |
TP TSN F FAYA YUSR | 7S AAGAS T S [N T a1 § | MR T, §TRS Teait # frer-five & ggd v, Ifa-9fieR & famre
ferror, P aofq & IogF Sl @1 IRTE T SR -G §RT 3T Sty 1, AT FH-Siaq & SMER-AGER B Uil aaTT adT % &9 &1
T SRl ST PTerordl 130 § 3ol ¢ | AR AR Wi P YT HAR TR 7T SRTURYN SRR AT | SgTaRANT 3 st F AraTerer &
IR T TR Pl 3P UTE [ MR gRERIAT BT YHIT § | ead! Ieaif B MAH-US i o 3 Wad 3T anfe=i¥ 3d @ | RaOR-9riid g1 &
TaNg ST U@ Ht TS Ied el arvl-uH F o 781 g9 | 3o g¥ ¥ @ S gHeTd A R, amifeie siftiedl ofik we@y gaReR 3
TR Afaear &1 fde fBan |

IUT TR BT YGHR 14 TS T Uy BT 3TR IaIgd:

WY - {59 yHR & quiH gR1 HETeTy ey A Tegel BT SNTgas fHar?

1. Ffdca aoie

2. GEH HeAreTat

3. +0fa et

4. Arael geufa

Correct Answer :-

5) TgTHfa faemufa &Y T e, sraeg SR AfYe - Fi  wrwiel ® Suasy § | @ Frfwivs, wnfuRe, g, Oy, Wieed-=ed onfe % weTvs uftsa @ |
ITPT IS F FAYA HUSR | 7S AP AS BT 3 (IR T a1 § | HIRT T, MRS Teait 7 frer-Rive & ggd v, Ifa-9fieR & famre
o1, pfaca g A ST BT IATE T R -l GRT IR Belagatel 31, AT F-sita & MER-TTER Bt UG aT ST quT 8T & B
T SRl 3@ PTerord! 1SN & g6l ¢ | WA AR Wi P YUl HAR TR 7T SRTURYN SRR AT | SSTIRANT 3 I3t & AraTeprer &
IR ITH TR Pl 3P UTE [ AR gRERIAT BT YHI0T § | Head! Ie3if B M- & 3 Wad 3T anfa=i= 3d @ | RaOR-Triyd g1 &
qravg 36T TP Wt TS I gl arur-u A fered A g | 3ot 8% T @ 3R wHTeH s, arfre siftrwal ok Ieie iy aaeeR @t
UER Afdehdr o1 frde fbar |

I TR FT YgHR 14 TS T Uy BT STR gaIgd:

"y - ‘fe-fave’ uedy # 5w veR @1 49y 82

1. gAY

2. 39g-Eg

3. faenaTeft

4, TaAVoT - AUy

Correct Answer :-

o ettt

6) TETHfa faemufa &Y T e, sraeg SR AfYe - FiFY € wrwe # Iudsy & | 3 wifwivs, wnfuiRe, g, Uy, Wieed-=d anfe & weTvs uftsa @ |
FPI IFISH F YA HUSR A 7P FFBAS BT 3 fAwR WY g1 & | UiRT T, §mike we-neit § freq-fave & e arumg, Ia-sMiRR & fase
o1, e qui A TOGTET BT ITE T 3R -2l GRT 3 Bdogaly 1, AT TH-S1a & ER-TAeR B USfaal adrHT a1 g3 &8 31
T SRl 3P PTerord! 1SN gl ¢ | WA AR Wi P YUl HAR TR 7T SRATURYN SRR AT | SgTIRANT 3 I3t F AraTeprer &
IR ITH TR Pl SAF UTE FH AR gRERIAT BT YHIT § | Head! Ie3if B M- & 3 Wad 3T anfe=i= 3d @ | RaOR-Triyd g1 &
qravg 36T U Wt TS S gl arur-ut A ferea A g | 3ol 8% T @ 3R wHeTeH s, arfre siftrwaf ok Teieiy adaeeR @t
TR Afaear &1 fde fBan |

I TR P YgHR 14 TS T Uy BT STR gaIgd:

Uy - “graRiar &1 orf @ gYar 82

1. GIEH G@AaTel

2.8T o S el

3.¢% % o q@erdrel

4. AfTST ¢HT aTell



Correct Answer :-

. ST @ arelr

7) TETHia faemufa &Y T e, saeg SR Afded - FiF € wrwe # Sudsy § | 3 wifwivs, wnfuRe, g, [y, Wieed-=d anfe % weTvs uftsa @ |
ITBT TEATSH F RAYe YUSR | 9% FEEAP BT 3 AR TY giaT & | ufd T, Five wamnei # fra-fave ¥ gea watvme, Ia-ofimR & fawg
o1, e qui A ATl BT ITE T 3R - RT3 Bdegaly 1, AW TH-S1a & ER-TAER B UGfaal adrHT1 a1 g3 & 31

T SRl ST PTerord! Ia1SH # g6l ¢ | WA AR W P YUl HAR TR 7T SRATURYN SRR AT | SSTIRANT 3 I3t & AraTeprer &
IR ITH TR Pl 3P SUTE [ AR gRERIAT BT YHI0T § | Head! Ieaif & MA-US A & § Fad 3771 anfexi¥ 3d @ | RaOR-wifyd g1 &
meﬂﬂ?ﬂﬂgmﬁﬁw-ﬁﬁmﬂﬁ'g'w I 3ot &% T & IR wweTel fvae, Ao siftredf sk weratr TeeeR it
UER Afdepdr o1 Frdes I

I TR P YGHR 14 TS T Uy BT STR gaIgd:
vy - A o1 wafgardt F@ 32

1. 39ged

2. e goFa

3. Tl @ &elr

4. 39gFd
2

Correct Answer :-

8) HETHfd faemufa &Y TaATE Wepd, 3ragg 3R AUl - i € rwreh & Iuasy € | @ PSS, i, g=fF, ™, died-wma anfe & yoTvs uftsa 9 |
TP IS F FAYA HUSR | ST JAGAS BT 31 (IR W a1 § | HiRT T, MRS Teait 7 frer-Rive & qgd v, Ifa-afer & famre
o1, B 9o A AT BT IS g 3R FI-RAT gRT 32 Selagalyy 1, AT S-Sl & ATER-TAER B TSfadl a1 a7 8% & ST
U SHSIRAT SAPT Hrererdt [T & gl & | MR 3R AP P Tl WAR TR SAHT SRATURYT ARBR AT | 3gTaRG=ING 3 IeTei & Moo &
IR ITH TR Pl 3P HUTE [ AR gRERIAT BT YHIT § | ead! Ie1aif B M-I & F Fad 371 anfe=i= 3d @ | RaR-Twifyd g1 &
wmwmmﬁ;m:?marﬁm-uﬁﬁmﬂﬁgm I SO g% T A I BT R, WA sifireaf ok Iy TagER Bt
UER Afdedr &1 frdes I

IUT T P YgHR 14 TS T Uy BT STR IaIgd:

7Y - HETH(a faemufa 3t IeTet FAeER & WU § H14-3 faiva g
1. J&R FHelarer

2. 9ER Feyarer

3. 9@ AR

4. g Afaw

Correct Answer :-

. YT Afas

9) WeTHia faamufa &Y T AP, gy iR Af - FiFY § wrwreil # Suasy § | 3 FHiwvs, ydRRd, 3, <, Higd-3ma onfe ¥ yeTvs uftsa A |
TP IS F FAYA HUSR | 7S AP AS BT S (IR W a1 § | HIRT T, RS Teait 7 frer-five & qgd v, Ifa-afer & famre
o1, pfee T | ST BT IATE T R -2l GRT IR Belagatel 31, AT -sita & MER-TTER Bt UG al ST qUT T & B

T SRl 3P PTerord! 1SN # gl ¢ | WA AR Wi P YUl HAR TR 7T SRATURYN SRR AT | SSTIRANT 3 I3t & AraTeprer &
IR S T pioraT AP IUTE I IR gRERFAT 1 yarer | Aeadf s $ WEE-usiy H 3 wad o anieRi 3 R | RAOR-Twifyg g9 &
memﬁgmm‘fw-uﬁﬁmqﬁyn | 39+ft B TIAT W I ST e, g sifiwaf ok Ied iy TargsR $t
R Al &1 fFdga I

I TR BT YgHR 14 TS T Uy BT STR gaIgd:

WY - HeThia faemufa 3 I[TEIE Tl ®) A SH-sia daeh $1H-30 e 3@ 4t
1. ER-cTGER T geyfa Fam=r

2. G & ggufaar sdmem

3. %o T ST HEET STPRT el

4. el geufd F WEAT el

Correct Answer :-

. IER-CTAER & geyfd Famlr

10) HETHTY faemufay 3t I9=1E WRepd, sragg iR AR - A1 & urwrait & Suasy € | 3 HH®IUS, trfmRG, o=iF, <, Wed-Ra 3nfe & ywvs uftsd &
| STt TEISH & fAYe HUSR & I7F TGP $T 3 FawR TE ST ¢ | Wi 3a1, 4 3a=reh & fraa-favs & e A, - & fwre
o1, Pfaea g | TSI BT IATE T IR -2l GRT IR Bedagatyl 1, AT F-sita & ER-TTER Bt UG aT ST qUT 8T & B



U SHHIRAT SAPT Hrererdt [T & gl & | MR 3R AP P Tl WHR TR SAHT SRATURT ARBR AT | NIRRT 3 IeTei & Ma—re &
IR S T Pl SHF 3UTE I AR gRERIAT -1 yErer } | geadf womsi $ IE-usiy ¥ 3 wad o anieRi 3 R | RaR-awiia g9 &
wmwmmﬁ;m:?marﬁm-uﬁﬁmﬂﬁgm | 3TN &R AT | S11 ST e, e aifiredt 3R IoTH g GaTgdR Bt
R Al &1 fdga I

IUT T P YgHR 14 TS T Uy BT STR IaIgd:

T - HeTefa famufa & qepTel IeiRaR & frw PR & Wy A 2
1.9 EER gFafva )

2.9 GIER  3Arderd U

3.9 IR &g |

4.9 T FHT F)

Correct Answer :-

¢ ¥ ER gFNaT &)

11) HETHTY faemufay 3 I9-1E WRpd, sragg A7 AR - A1 € urwrait & Suasy € | 3 HH@IvS, trfRG, 9%, =, Wed-Ra anfe & ywvs uftsa &
| STt TETSH & fAYe HUSR & S7F TGP $T 3 fawaR TE ST ¢ | Hid 361, 4T 3a=rsht & fre-favs & e AatHE, If9-SfeR & fwe
o1, pfoe T | ST BT IATE T R -l §RT IR Helagatyl 31, AT -sita & MER-TTER Bt UG al ST a7 &< & B

T SRl 3@ PTerord! 1S # gl ¢ | WA AR Wi P YUl HAR TR 7T SRATURYN SRR AT | SSTIRANT 3 I3t & AraTerer &
IR ITH TR Pl SAF SIS [ AR gRERIAT BT YHI0T § | Head! Ie13if B M-I & J Fad 3771 anfe=i= 3d R | RaIR-wifyd g1 &
memﬁgmm‘fw-uﬁﬁmqﬁyn I 39+t B TEAT ¥ I ST fomaw, g sifiwaf ok Ied iy TargeR $t
TR Afaear &1 e I

I TR BT YgHR 14 TS T Uy BT 3TR gaIgd:

uY - AT faemufa o & @ frw fawa & yetus dfsa =8t A2
1. SITRITET

2.8

3. HHHIE

4. ShHhIUS

Correct Answer :-

12) WETHY fagmufa #t [ Tepd, sragg SR AR - FiHY & urarei & Sudey § | 3 FHES, YHIRG, o%iF, N, Wed-3ed Ife ¥ yhTvs uftsa A
| STt TETSHT & fAga HUSR & S7% TGP $T 3 fawR TE ST ¢ | HiF 391, 4T 3a=rsht & fre-favs & e A, 3-SR & fwrg
o1, B 9o A AT BT STE T 3R - gRT S Peledaly 1, AT S-St & ER-TAER B TSfadl ST a7 8 & ST
TN SHERAT SPT Hrererdt IJgTe & gof & | AR 3R A & Tyl WHR TR IS SRTURT ARBR AT | gTaRd=ig 3 Ieisi & Moo &
IR S T Pl SHF 3UTE 1 IR gRERIAT &1 yErer } | geadf s $ Iea-usiy ® 3 wad o anieRi 3 ¥R | RaR-awiig g9 &
wmwmmﬁﬁ?mvﬁm—uﬁﬁmﬂﬁgm | 3TN &R AT | S11 FHSBTNH e, e it 3R IoTH g GagdR Bt
YR Afaear &1 fAde I

IUYE T B UGH A1 UD T Y BT SWR TaTgd:

uy - f5 v & wquf TuR W weTe iy faemufa &1 srreRor st ur?
1. T & w9 Hifds d

2. 599 die 3R drdrer A

3. T 3R ol

4. qETeT 3R feards

Correct Answer :-

o T 3R AF

13) HETH T faemufay 3 39-1E WRepd, sragg iR AR - A1 € urwrait & Suasy § | 3 wH@IvS, trfRa, o=, =, Wed-Ra onfe & ywvs uftsa &
| STt TETSHT & fAYa HUSR & I7F TGP PT 3 FawaR TE ST ¢ | Hid 3a1, 4 3a=msh & frea-favs & e A, If-ofeR & fiwg
o1, B qui A AT BT IS g 3R FI-RAT gRT 32 Sedagalyy 1, AT S-Sl & ER-TaER B TSfadl a1 ad7 8% & ST
TN SHSIRAT SAPT Hrererdt [T & gof & | MR 3R AP P Tyl WHR TR SAPT SRATURYT SRBR AT | gTaRd=Ig 3 IeTsei & Moo &
IR S T Pl SHF UTE I IR gRERIAT -1 yErer | | geadf womsi $Y IEa-usiy H 3 wad o anieRi 3 R | RaR-awiia g9 &
wmwmmgmvﬁm-wﬁmaﬁgm | 3TN &R AT | S11 ST e, e aifiredt 3R IoTHa GaTgdR Bt
R Afewar &1 fdga I

I TR P YgHR 14 U T Uy BT STR IaTgd:
WY - TEThia faemufa 3 WeieRaR § {69 yfieT &1 fde famar 2
1. &



2. grATToe 31T APar
3. TSR
4. HATEPR

Correct Answer :-

14) #AgEY RNy i AT T, Iasee i AR - AT @ s F sveey §) F Fwws, wh, oW, S, dd-aeT AR F vwos
qﬁgaﬁlmmmévﬁwmn#mmmmﬁﬁmmm%laﬁam IR Taenst & Breer-fve & qaw #eemE, -
FfEER & g R, @amammmmmﬂmﬁmﬁmm AT S-Sl & IMeR-cqqgR A geufadr aamen
wnmﬁmmmmaw%mm#ﬁm A AR AF F AT FER W IR FEUROT FfAER ) Frsaaradr I TeEt &
em#rﬁamﬁmﬁmﬁmmaﬁrmﬁmwmhmmm#ammﬁﬂmmmhaﬁmm
FFARGT O & aTae[E 391 T ot TS eIH FE AR A v € gaml AUl ¥ A F e WA Teden, FrATorw Afdwar 3R
mmmﬁmﬁﬁmmﬁéﬁﬁrml

SYYFA AT B GgHT AT qF AT oA FT I IABA:

TR - AEHA AUy & AAGas H1 Heled ATaR fFa¥ Tose g & 2
1. 3T TA3MT & fAYer UK &

2. 3T TIATHT H AROT-UH 7 g |

3. 3T TATC el AT H g F

4. 3% 3NsTar 9T TomH F GHIFENT BT I

Correct Answer :-
o 3ol THAI3T & faYer HUSK &

15) #gwia Regefy 7 @aw w5, Iascs AN ARG - A= & st F sueey § | 3 Fewws, e, e, FW, Wieed-areT iy & ws
qﬁgaﬁna@rmmaﬁa;mw#mmmmﬁwmm%mﬁam SR Taest # PBow-fAve & qea A, Te-
FfEER & R R, fﬁamﬂmmmaﬁwaﬂ?mﬁrmﬁ?mﬁwm mmsﬁawa?mma?rmrﬁm
TAT AU X AT A FANT ARG 3AR o T F aof § | 4T IR A F A FER W SAFT IR FOFR A7 | IgAAReT 30w
TNt & e # R 3T FHET FlaAl 3 JUE A AR GRERI FT g@er ¥ | weadt wonst F awer-geufy # § waq den AvEdE & W@ |
Wmmtmmwsﬁmmwﬁmuﬁﬁmaﬁgm|3m=ﬁgrmﬂaaﬁmsh=rﬁ—cm S Afdwar s
THAHT FAGHER HT TG Afashdr F1 Adear & |

UL TEHI FT IGH AT IS AT FoA FT I qaBa:

W - e F & B &7 i ARGl AgrHia Ry fr Wt § g a9 §7
1. &R

2. 53

3. fdemer

4. Hivedemes

Correct Answer :-

o AfaemreT

16) ¥ i farrean foad fagean, amar A 2w ansht wa #9151
-9 IO g ¥ 16T, 71 < 89 o4l s |

& § gl ug aadl, 3t w7 ara=T W
IS TP W T B4 TS, T Siea 33 | el

e 76 A1 g 79§, Tl 77 77 € F w1
TETHd ' IAH! Wl <@, o =% ge @w I

fRra® a7 SR 3MY, The | Y& FHE |
3G P IR ATH! BIS 7 9@, S T AT B TgRs

HOE G § € o T, R R dard |
e ‘w8 & a1 fay farrean, gu o farst wrg i

ITa TiY B UgHR K IR T Uy P SR T84

T - 519 GBI B a1 g W@ ¢, A I8 g1 B T 8 T 82
1. Ifdelr

2. 3TEPRT

3. rady



4. gegn

Correct Answer :-

17) ¥ <t forean favad fagean, amar A fem snsit wa #9151
R-I od g ¥ 167, 91 9 89 <4l s |

T & gt ug a1at, ot e aTaRT Wil
39 TH W By B U, TSI g3 F1 sl

T T 1 g 7§, @rel 7 949 € F wam)
HETHG A A1 4@, for =¥ g ww i

fora® A9 favTd 3mY, Johd W & qHTS |
3T B U 1D B 7 A, St ¢ el Y IR 1l

FALe W H ¢ um, far e S|
weTd 'F8 § a1 iy ferean, gu R et wgn

ITTd YT BT UgHR -1 T T UY BT IWR qaA159:
WY - B P AR T B! B & TPl @ ?

1. S C@eAT AT &

2. ST HToRe1eT 831 &

3. o =i 7 @ @aH @

4. forwd e &

Correct Answer :-

. o Tt & w9 waw

18) ¥« farean favad fagsan, amar A fem anait wa #Is1
R-I ToId g ¥ 161, 91 < 89 sl s |

# & gfml ug arad, 3t B araRT W
34 TP W He B T, TG g T

T g0 A1 g U4 8, @rel 79 99 1 W waT
e TS |8 38, O =¥ e wuH I

fRrad =99 SR 3MY, Wpd | Ve S|
IR B IR TR DI T 9D, I ¢ el B TR N

Fae W F € ER ur, R e e
weTTd 'Fe § a1 fay frean, gu o ey wign

ITT Ui B UGHR 1A UD MY UY HT IR TaA153:
Y - I F AR T gl fHa 3a 82
LAT H

2.\ #

3. TR H

4. §EATS H

Correct Answer :-

19) ¥ it farsar favad fagsan, amar A fem snait wa #9151
R-I oId g ¥ 9167, 91 < 89 sl s |

# & gfml ug arad, 3t B2 a1 W
34 TP W He B U, TG g A S

T g0 A1 g U4 8, @rel 79 99 1 W waT)
HETA A A o, o 2% ge wwmi

forad =99 3R 3, WP | Ve TS |

I B IR TR B T 9D, I ¢ e B TR N

FaE W F € ER ur, R e e
weTTd 'Fe § a1 Ay ferean, gu o farsy wgn



ITT U B UgHR 1A UD M UY HT IR TaA153:

Y - Bfd P AFAR STBT T DIs WY w1 7Y 4@ qopel ?
1. T 38 O & gar fREr 1 87 gar gl

2. T 3T GT & AT HidT gl

3. % 98 e & R T

4. FAif% g W g &l

Correct Answer :-

 Fifh 9§ AT H W gl

20) & q famrea fawad fagsan, arar &R faw sna wa w51
-9 TXoId g ¥ 16T, 71 <t 89 o6l e i

# & gt wE aradl, ot 3 araw wiEh
39 TP W B B U, T gia S | s

T g0 A1 g U4 8, @Tel 79 79 1 W wa)
HETHd HS! AIg @, o w8 g wuHi

¥ a9 ST 3, Wha | Vel TS |
T B TR TR S T w@, N T IS B TR N

HAE WA & ¢ O U, R urse 3w
werTd 'Fe & a1 fay frean, gu o farsy wrg

ITT U B UGHR 1A UD M UY HT IR TaA153:
7Y - B 7Y v U T oM F R pE EI R 2
1. iR a5 T Bl

2. Fife 3H WeIre N 39T o

3. Fife 98 WeieA & fAer |

4. FifF 98 TOR ¥ 9os T &

Correct Answer :-

. Fif% I8 FOR ¥ Wos = gl

21) & ot fowrean fawad fagsan, arar ¥ fawr ena 7 #ig |
- oI &1 ¥ 914, 71 a1 g9 w4l s @

& & gfval ug arad, 3 w2 arawr wigh
39 TP W BT B TS, T e S T a5l

TS g8 A1 g T4 8, ITell 79 79 81§ 9@
HETHd "ATP! A5 3, o 28 ge wwmi

fraw I SiaReTa oY, W e | Yam wHg |
AW P TR B! B 1 T, W ¢ AL BY TR N

HAE W & T O U, R ure 3w
weTd 'Fe & a1 fay farean, gu o farsy wg i

IUYTd Ui B UgHR - T T WY PT I 9a1ga:
7Y - B3 fFad S s S Rwss w2

1. T3 F

2. 590 Hfa F

3. 3TTART o &

4.908T &

Correct Answer :-

. I FE &

22) # 4t fowrean fawad fagsan, arar ¥ fawr enma 7 #ig |
- oI &1 ¥ 9147, 71 a1 g9 w4l s @

& & gfval ug arad, 3 w2 arawr @igh
39 TH W BT B U, T e S T a5l



9 7 1 g 79§, Tl 77 7 € F 9@
TETHA ' IAH! Wl ¢, o =¥ ge @w I

fRrad A SR MM, The | Y& A |
3G P IR UTH! BIS 7 9@, S T AL B Tq@Rs

FOE G § ¢ ER T, R R dard |
e 'Fe & a1 fay farrean, gu o farst wrg i

ITa Ui B UgHR K IR T UY P SR T84
uY - B A fHae @1 e I8 W urn ?

L ART &

2. 9e® &

3. 3EHR F

4. WeEeA &

Correct Answer :-

. UEI® &

~9

23) &t famrean fawad fagsan, arar ¥R fawr ena 7 i |
-9 IO 8 ¥ 16T, 71 < 89 o4l e i

& gfal ug aradl, 3t w7 ara=T W
T TP T e B4 TS, T Siea 33 | as il

e 7 A1 g 79§, Tl 79 7 € F 7@
TETHA ' IAH! Wl ¢, o =¥ ge @wH I

fRrad A iR 3M, The | Y& FHS |
3G P IR ATH! BIS 7 9@, S T AT B TGRS

FOE G § ¢ ER T, R R dard |
e ‘'Fe & a1 fay farrean, gu o famrst wrg i

ITa TiY B UgHR K IR T UY P SR T84

TY - 3T TP W FT P ude” ufes & oy oS ug &1 m s g} 2
1. SFeR

2. #7ciraT

3. faearw

4. =T

Correct Answer :-
. foeama

24) # @ fawrean fawad fagsan, arar ¥R fawr sna wa i |
R-I oId g ¥ I197, 71 9 89 <4l s |

# & gt ug a1adt, ot He SraRT Wigh
39 TP AN BY DI YA, T digia S | s

TS 7R A1 g 749 B, @l 77 7 6 F s
T "HAP! WIS 3@, o =8 g wwH

fRra# = 3R 3MY, Th e | Y& FHE |
TG P IR UTH! B1E 7 9@, S T A B TGRS

FaTe Wi & R g, fean uRew W
weTd '$¢ § a1 fay ferean, gu R et wgn

ITa Ui B UgHR 1 UD T Uy P IR TA183:

WY - Ugd faar & fe g & @ w1H-a1 2fife Suga 82
LS G -9

2. HeFre fear e

3. 8T HT 8

4.3R ¥ faosr

Correct Answer :-



25) & qt famrea fawad fagsan, arar &R faw sna wa g1
- oId &l ¥ 914, 77 a1 g9 ol s @

& § gfml ug arad, 3t B ara=T W
39 TP W e B Ui, TG go T

TS g8 A1 g U4 8, Irell 79 99 81§ 98
HETHA 'HAS! AIg @, o T8 g I

¥ 99 AR 3T, Whd | Vel TS |
AW P TR B! B 7 T, W T AL BY TR N

TR W & TR, i uree S|
weTd 'Fe § a1 fay frean, gu o farsy wrg

IUY UL B UGHR 1 T I Y BT IR qaA15d:
Y - T MY Wg HY BT 3 grenn 2

1. FIT

2.35

3. el

4. §ET

Correct Answer :-

26) # qt famrea fawad fagsan, arar &R faw sna wa g1
- oI &l ¥ 9147, 71 91 gH ol frsm @

# & gt wE arad, ot 39 araw gt
39 TP W He B T, TG go R S

TS g8 AT g U4 8, @rel 79 99 81§ wa)
HETHA 'HS! AIg @, o T8 g wwHI

¥ a9 AR 3T, Whd | Ve TS |
AW P TR B! B 7 T, W ¢ AL BY TGRS N

TS W TR, e uree s |
weTd 'Fe § a1 fay frean, gu o farsy wg

IUY UL B UGH 1 T T Y BT IR qA15d:
TY - TR H 3T W WG BT 1 S g g 2
1. ufa

2. a9y

3. el

4. 3URT

Correct Answer :-

27) &t famrean fawad fagsan, arar &R faw sna wa i1
-9 oI g ¥ 16T, 71 <t 89 o4l e i

# & gl ug aradl, 3t B2 ara=T W
39 TP W He B U, TG go A S

TS g8 A1 g U4 8, @rel 79 99 81§ w8
HETHd ' HS! AIg @, o w8 g wuHi

¥ a9 AR 3T, Wha | Vel TS |
3T B U U1 B 7 @, S ¢ SIEld Y agRs i

HAE W & ¢ O U, R urse 3w
weTd P8 § a1 fay ferean, gu o farsy wrgn

IR U B UgHR 1A UD M UY HT IR TaA153:
Uy - 3y I 7 Ros M 2
1. fSersst & FROT



2. 37T & HROT
3. 3EHR & HROT
4. Sl & FHROT

Correct Answer :-

« a3y & HROT

28) # ot famrean fawad fagsan, arar ¥ fawr ana 7 1|
- oI & ¥ T4, 71 a1 g9 w4l s @

# & giral w$ arad, of w2 arawr At
39 TP A T B T, T AR 3 R DN

e 7 A1 g 79§, @l 77 7 € F 9w
TETHA ' IAH! Wl <@, o =¥ ge @

fRra# A SR 3T, The | & A |
3G P IR TS BIS 7 9@, S TN B TGRS

T[S G €O ural, fan urse s
wETHd 'Fe | a1 [y faren, gu fom famres wig

IUYTd Ui B UgHR A I T WY PT I 9a1ga:
TY - D AW PT TR Te UgdT UTaT 82

1. TR

2. 91T

3. @

4. AT

Correct Answer :-

o I

=l

29) &t famrean fawad fagsan, arar &R fawr sna wa i |
R-IR IO & ¥ T4, A1 a1 g0 <) s @

& & gt ug a1adt, ot B araRT Wigh|
39 TH A Fe B U, TG S RN LN

TS 7R A1 g A9 B, @l 77 7 6 F
W 'SP WIS 3@, o = g wwH

fRrad = 3R 3MY, Fh e | Y& A |
G P IR TS BIE 7 9@, S T AL B TGRS

e Wi # ¢ g, fan uRew e
ema '$e § a1 Ry e, gu fom farst uin

ST THiY B UgHR 1 UD T Uy PT WR T84
WY - oS W A Bi B o femman € 2

1. 7% aroft

2. T AT

3. WEH

4, HfIAT FT AT

Correct Answer :-

30) & o famrean fawad fagsan, arar &R fawr sna wa g |
R-IR I & ¥ T4, A7 a1 g0 w46t s @

& gl ug aadl, 3t w7 ara=T W
39 TP A By B YA, T Agia g8 | s

TS 7R 1 Hg 749 B, @l 77 7 € F
TETHA ' IAP! Wl ¢, o =¥ ge @w I

fRra# = 3R M, The | Y& FHE |

3G P IR TS BIE 7 9@, S T A B TGRS



FALe W H ¢ um, far uree s
werTd 'F8 § a1 fay ferean, gu o et wign

ITT Ui B UGHR 1A UD T UY PT IR TaA153:
uy - g sla Y FTFEM T 2

1. gt

2. 91aT

3.8

4.9y

Correct Answer :-

Topic:- General Sanskrit(L2GS)

1)

9ol gfocar sreanfafeseea yeaey ﬂﬁd:_l’rdi qaad -

Todl AT HEcd STUal Aed icehe |
AifAeT: Ferel AT 7 87T AIed SAEra: |l

fearelr Enfeaane Tachraset Safeaa: |

JRIA e egrhSelod 1§ Al a AT I

Usd: JUd: I HAT: fF fF afea?

AU 8 |
1.

| UTdeh shelged

d-lc\isl‘cc.I Ordeh o
3.

UTdeh FWcd o

Correct Answer :-

AU UTdeh T



TR=oe 9fecar 9o+ &gﬁ@cd{ gaad -

giforar: Fgiera: JEfad: Ta HRed | 3 AelHd: ARARY A
3cHAY 0AA| 3cHa: 3 BIE-URENEE, Foded, $5eEd, e,
dreaeg I AREd |

gifcleplcla: Ufday BIed[UTAET UTART sfafd | 3/ & g 3787
3cHaEd ? 3T 3TIA-GHeadd A A ghfa-dleed gdd, d@y
IMAY Fifeherr: Fotfed | efidel: Aea: Folee: o dTd: d6id | Tdlel HAlcehel
AY-F AT HISAT: IeHcdl: Hdled | Tepd: 30l Faed: o 3T IR
ATAT TP Goldled | BiToihicad s ol WEI ai-fay fateaiea
| & TEIRANASIfed | gIfehlcatd 3IRFATT AT I TRAEl- giferem
feeoapfamar: o1 e | fERuasiAy: Seay arfdeddd | GFF O
UEdlle: UNHSF: A | Ul dehdR T g TcddARd, oo
TGl U 3fH%e:: 3Hdd | Uhal dod LA gifelenr sffeser | @r =
YedE ARMG, o $Is Uy gegl ufdser | sEad: sToar 91 d F&@aAd
e 3e7ac] | VEdleEd HaAT AT fdsed | dfedersd uW: 3cHa:
yaferd: | Gl 3fed Sl 3ifee Yodied glidelags Hdfed |

TERUTHAY 36 Teifdsrera: Tehaeered fhe ?
11%?%2?1@



eellehl gfScar IreNfAfEserd UoeTed A I -

Ul A HWed Ul AEd Uideha |
AifA: Foer ACd 7 &7 T1fd JAEId: |l

fgareht wnforarneh Earcrrastish Safeea: |
trauaﬁ?ﬂﬁg\mmﬁgﬁmﬁmwam I

T T heled 3eTohd Tl o sfafd -

Sqd:, Alfele:

1.

oilda:, oida:

_ ST, Aifae:
, HifedeT:, god:

Correct Answer :-

SEra:, HifaeT:



TR gfscar ueasa Q:I,ﬁdgcdi gaad -

gifoerm: #glcea: sefadin: va AT | 3R ARlcHT: ARERY HEAY
3cEdY  AUAd| 3cHa: 30 BH-URGEEN, JcUEd, eodd, e,
deTed T ARET |

Bifcleplcad: Ulday WIeqUiAraEd QoTATl safd | 31 & g: 316
3CHIEI ? 3F FAA-GEeaed 3WEH Eid SPid-dleed add, @iy
39gay fafduauiia sgAra fahalcd, &y a¥ggerfor et adafea,
IMEY FIfherT: Foffed | Mo FAeg: Folee: T T Teid | T HAleehed
HYFHJAT HISAT: IodHccl: #dfod | Tepd: 3Tolehi0l Fdec: o 3T GTER
AT W Goldfea | gifdecad @dsf oem wea S-faty [Reiea
| § IERATASIed | gifehlcaadsd IRFEAET AT 9 UfA<r- gifcler
fevogshfamar: ofae smha | fRoasidy: seay arfdeadd | a&F O
VEele: YA I | AT dhal GIET 5 ShAARI, fohee]
Hel U9 3{fWel: 38dd | Thal ool TIsTiElal glfelerl 3TGSer | &7 o
Ve ARG, d #is AU gegt ufdser | s@ad: sTodr |1  F&aIAd
e 3e7ac] | Eelledd Faur et 3ifdsed | dfeaersd Tw: 3cHa:
Eferd: | BIfelpraT: 3fed Sl 37fds Uodied glfclelaps Hdfed |

. hlchl:
2 hifchell:
3. RCEE
e

Correct Answer :-



URTde 9fScar Jeaed eHcc I -

JoAlfel AT HEIHFIAT: | ST MHAT deeldUlcy: U9 ddd | I3 T
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40) Prafafea 9t & #a @ o §2
A9 # IR Y, W A FeR Y,

Tg Ta a g, R A} AR

el 37 FEel §, I ot e €

I @ gar oft S, et § gERe

1. 39T Sog

2. ¥ gARTY Beg

3. {3 B

4. TeITeT Tog

Correct Answer :-
« TR ©eg
41) Frafafee 9t & T @ oo &7
& FiT o7 & I § ik g arsdy |
M3t RN e e, a8 aweaw g 1)
1. el oo
2. T B
3. el o
4. gRenfas o
Correct Answer :-
. gReffas &g
42) Prafaf@a 9Faat # sa-ar sesr §7
R R gar RaR dfFe AlF st av |
S SR ST, ¥ 3R 3 FR MRS 11
1. #IfAATT 3SR
2. 9T 376l
3. 6aE el
4. 3ETEXOT 3ol
Correct Answer :-
43) gATR 9 # 4w [T F e # 39 FE Rt g7 [/
1. Iseygfar
2.9 & HUEH
3. ATr-faer
4. 391 e
Correct Answer :-

« U3 & HUGH



44) R WHEN FRATET F FIAT A T o7 A FY FORT Brar smar 32
1. FETAT FHI
2. FRife |@dE
3. T 3ETaT
4. AT AR

Correct Answer :-

45) HEIH W AT @A W T A1 FAA F FROT 7 oo afFT @ eI § wwEfa S 3w 3 9@ @ §, 3@ Fa @ e ofFa
FEd 87

1. TaRIe ereq Qrferey

2. IETUT 2Teq; QAferel

3. TGS 2reg AT

4. ATRYT 2reg ATRA

Correct Answer :-

« O8O 2reg TSR

46) '3 1 S W FT WY, AWEFT F AT § -
1. ST ARG |

2.%% aR HL |

3. et @1 38 &1 gRFa @ AT S
4. 90 Tk § See el |

Correct Answer :-
- frely =t 38 i gfeFa @ A el

47) gear st fawre w1 T o

L. gfad

2. 99A7

3.

4. aq%

Correct Answer :-

48) WISFER TIRT HIPHA F -
1 {&H & 7 fG@mr s g
2. BT Fa fe@mr S gl

3.9¢ W R S g

4. gy Fxh @ ST R

Correct Answer :-

49) “Hg A1 AT FAAT |

39 99 W A & Bh

AT W efier TE
o g7 I IR I=wI” - 97 dRFaal e w7 A §



1. AT TqdEr
2. SR GHIE
3. qAU R ety

Correct Answer :-

50) “afey g At i FE § ar FEy e H FEE 317w T 2
1. AN UG gfader

2. 3T G YFA

3. 91cig gfadeT

4. FETER TG giaadr

Correct Answer :-

51) el Flerer weEt AFER g &
1. o7 38R fogeT

2. FAT-AIROT ST 7 FHioas

3. 3G gEIIEe

4.Wﬁa§3qmﬁmm

Correct Answer :-
. TEI-FINON T F HiSarg
52) R wiitey & ‘gromare &1 Yadw R AT SArar 87
1. giAATes ud
2. gRERT st
3. ey R e
4, STTT Tods ATEA
Correct Answer :-
. RERE Fe=a
53) & RFeq Fam -
g €T Tael Fgardr 1
1. UeEr
2.9eg
3. 9T
4. 7167 Ma

Correct Answer :-

54) ¥E RAFeq dm -

7% st faffe @t sk vt F gt & e ik R A gor-gaiateard w1 @ ST 2
1. aRa Freg

2. FETHIET



3. 9qqoT
2

4. ATEITT

Correct Answer :-

55) @@ RFew qaEd-

g e W B & PEusr §, S # ITasife & Tyt Hr w@ar @
1. SFATeHS el

PRCRIEI IR

3. gacaTcHsd el

4. idcareedrcs el

Correct Answer :-

. SIATHAS el

56) TadAaT 9 I H fader 7€ ¥ TF WA UK W AR F 916 F@ATA WS AR ITH@AA F 5 AT {1 0F AR B 4T FAS
# FAAAT §, W FIA TGN H HAAT e A FqAAAT AGT ¢l T TF U6 H AR TAW H TqAAAT AL § THA, AAH Th AT ARRE
N, It AT T A § AT TAR FT AT Tod T A P Fo$ AT gt gHR onFsEde W A A FadTar §, g gan e @
TR UER F WX FEAAT A AT P MRT F FadTar g dIdT §, 97 qE AT A FAAA F qUF AG A AR A FROT @A
afRT fF & Fadad & A9 TF afed F RA 3T gl

I9gFT IREdT A TgA A Rw v woer # e FAfEw:

‘FH TF UETd & AT T T TGAAAT AST § Hehel' - $H FUS HT AT F4T 872
1. 3HH! 9§ TIAAAT UIed G Bl

2. 9g AT ST gar

3. 399 aIffica Sy AL g

4. T T AR AL &

Correct Answer :-

57) ¥@aaaT 39 3T H BRIET 79 §1 v HAH 9N W A F a6 Fqaaar Weoiar AR 3EgEaar # 95d I §) o aFa # aq FA
Y TFAAAT §, W FTol AR AT HYAT e Hi TqAAAT q61 g1 §H TF URTT H A T H FAAAT Gl & W, A T AHATT ARTRE
N, A AT TAAT AAAT § AT TARN FT AATT I FA A FE FEAE T A gHR APEENF W AN A FacTar ¥, g R T ¥
TR WS & W FEAAT A AT P MRT| F F@ATAT g4 GIT §, I8 GO AT A FAAAT H qUF AG Al AR A FAROT I@AT
T R T FadAdT & WY UF qAed F ToA 3T g g

39gFd qReST F TGH A RT 7T woeT F 3o @
wEqa e F1 30 ofvdw T o wwar 82

1. 3fteR 3R wde

2.9 T FTaATAT

3. TIAFAT T FAIT

4. FGAAAT T HAFR

Correct Answer :-

. 3R&R AR FHdea

58) ¥acFT 9 HT H BRIET ¢ &1 v HAT 9N I A F 96 FaaAar WeardRar AR 3TgEdar A 96d A ¢ TF AFd B 4T FA
I FaEAAT §, W FF TAR A HYAT AR P FGAAT AE §1 FH TF IR F AR TAW Y FEAAT AE & TP, AR TH ARG ANRE
N, A AT TAAT AT § AR TAN FT AT IoT FA A FE FoA$ T O gHd AsEEr WA i FadTar ¥, g e T @
AR TSI & W B FEEAAT A A g AMRT| H F@AFAT g GIST §, I8 GO AT A FqAAAT H qUF AGT ol ARV §H FAOT I@AT
TRT B & FaATA F G TF SRT FT TR F3T T g

394Fa aRedE A Tea A RT v gor F1 e FAf@w:
et Rufaal # g aEsedat @ o A TaaAdT 22



199 AT &y & ar

2. 599 gAY 3mareT g &

3.9 BAR I & foRely & Ashelld o &
4. I A Telel N 3TATIT &

Correct Answer :-

« 9 FAN 9T & fRdll AT dAepell® o &

59) ¥aaadm 39 3T H PRIET 78 §1 vF €W IR W AN F g FAAT WeoaRar dR sTgEaar d agd I § o AfFd # uT FA
I FaEAAT §, W FF TAR P YT TR P TGAAAT AE Gl FH TF IR F A TAW I FFEAAT A8 & TP, AR TH ARG ARG
F, A AT ToAT AT § AT TeAR FT HAGT IoT T A FE FR$ A elll gAH APSENF W AN A T §, g gAR T F
AR TSI & W Y FEAAAT A A g AMRT| F F@AAAT g GIST §, I6 GO AT A FqAAAT H qUF AGH ol ARV §H FAOT I@AT
TRT B &7 TadTAr F AT OF AT FT TRA F3T & 8

IFT IRESE F TEAT AT BT AT T F Ieaw AR

e Rufadt & Tadaar Weeradt 3R seogaar # aqa o 2
1. U AT R e & 916

2. 3T 9Ied & & a1g

3. foRUeET #mg & HRoT

4, STT3T & FROT

Correct Answer :-

« U AT IR FA & &1

60) TaEFAT H9S JT H BIET 7 §1 vF €A IR T IS F 96 FqaAaT WeodRar AR 3EgEdar A 95d I §| 0 AFd 4T FAH
I TEAAAT §, W FTol AR AT HYAT e Hi TqAAAT A61 §1 §H TF URTT H A T H FAAAT A1 & W, A T AT ARTRE
N, A AT TAAT AT § AT TAR FT AT I°T FA A FE FSAE T A gHA APEENF W AR A FacTar ¥, g R T ¥
TR UK & W FEEAAT A AT P MRT| F FaATAT g4 G §, I8 GO AT A FAAAT H qUF AG oAl AR A FAOT TG
TRT B 1 FAATAT F AT TF ST FT TRA 37 8T g

39Fd gRESE F TGH A RT 7T woeT F 3o @
TEAAAT & WA FIT-AT ToA 3T g 82

1. 3R

2. aTidea

3. 3THEeldr

4. fAxderar

Correct Answer :-



